
Ergebnisse: 
 
Profiltyp  Rund 
Kurzzeichen  101,6x4 
 
Fläche A =    1226.5  mm² 
Schwerpunkt bei ys =       0.0  mm  zs =        0.0  mm 
 
Y-Z-Achse 
Flächenmoment Iy =     146.3  cm4  Iz =      146.3  cm4 
Widerstandsmoment Wy =      28.8  cm³  Wz =       28.8  cm³ 
Randabstand ey =      50.8  mm  ez =       50.8  mm 
Zentrifugalmoment Iyz =       0.0  cm4 
 
Schwerpunktachsen Ys-Zs 
Statisches Moment Sys =      19.1  cm³  Szs =       19.1  cm³ 
Flächenmoment Iys =     146.3  cm4  Izs =      146.3  cm4 
Widerstandsmoment Wys =      28.8  cm³  Wzs =       28.8  cm³ 
Randabstand eys =      50.8  mm  ezs =       50.8  mm 
Zentrifugalmoment Iyzs =       0.0  cm4 
 
Hauptachsen 1-2 
Hauptflächenmoment I1 =     146.3  cm4  I2 =      146.3  cm4 
Widerstandsmoment W1 =      28.8  cm³  W2 =       28.8  cm³ 
Randabstand e1 =      50.8  mm  e2 =       50.8  mm 
Winkel α =       0.0  ° 
 
Ergebnisse: 
 
Profiltyp  Rund 
Kurzzeichen  101,6x6,3 
 
Fläche A =    1886.2  mm² 
Schwerpunkt bei ys =       0.0  mm  zs =        0.0  mm 
 
Y-Z-Achse 
Flächenmoment Iy =     215.1  cm4  Iz =      215.1  cm4 
Widerstandsmoment Wy =      42.3  cm³  Wz =       42.3  cm³ 
Randabstand ey =      50.8  mm  ez =       50.8  mm 
Zentrifugalmoment Iyz =       0.0  cm4 
 
Schwerpunktachsen Ys-Zs 
Statisches Moment Sys =      28.7  cm³  Szs =       28.7  cm³ 
Flächenmoment Iys =     215.1  cm4  Izs =      215.1  cm4 
Widerstandsmoment Wys =      42.3  cm³  Wzs =       42.3  cm³ 
Randabstand eys =      50.8  mm  ezs =       50.8  mm 
Zentrifugalmoment Iyzs =       0.0  cm4 
 
Hauptachsen 1-2 
Hauptflächenmoment I1 =     215.1  cm4  I2 =      215.1  cm4 
Widerstandsmoment W1 =      42.3  cm³  W2 =       42.3  cm³ 
Randabstand e1 =      50.8  mm  e2 =       50.8  mm 
Winkel α =       0.0  ° 



 


